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Multiple Choice Questions

Microcosmic salt is1.

Na4P2O7A.

Na(NH4)HPO4B.

Na(NH3)HPO4 4H2OC.

MgNH4PO4D.

Answer

The C-O-H bond angle in ethanol is nearly2.

90°A.

104°B.

120°C.

180°D.

Answer

A buffer solution is prepared by mixing 0.1 M ammonia and 1.0 M ammonium chloride. At 298 K,3.

the pKb of NH4OH is 5.0. The pH of the buffer is

10.0A.

9.0B.

6.0C.

8.0D.

Answer

Among  NH3,  HNO3,  NaN3  and  Mg3N2  the  number  of  molecules  having  nitrogen  in  negative4.

oxidation state is

1A.

2B.

3C.

4D.

Answer

Born-Haber cycle may be used to calculate5.

electronegativityA.

mass numberB.

oxidation numberC.

electron affinityD.

Answer
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The heat of  formation for  CO2  (g),  H2O (l)  and CH4  (g)  are -400 kJ  mol-1,  -280 kJ  mol-1  and -70 kJ6.

mol-1 respectively. The heat of combustion of CH4 in kJ mol-1 is

890A.

-160B.

-890C.

-90D.

Answer

The molecule having zero dipole moment is7.

CH2Cl2A.

BF3B.

NF3C.

ClF3D.

Answer

The bond angle is smallest in8.

H2OA.

H2SB.

BeCl2C.

N2OD.

Answer

Oxygen and sulphur both are the member of same group in periodic table but H2O is liquid while9.

H2S is gas because

molecular weight of water is moreA.

electronegativity of sulphur is moreB.

H2S  is weak acidC.

water molecules are having weak hydrogen bonds between themD.

Answer

Diffusion of helium gas is four times faster than10.

CO2A.

SO2B.

NO2C.

O2D.

Answer

Which of the following shell, form an outer octahedral complex?11.

d4A.

d8B.

d6C.
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None of theseD.

Answer

C (s) + O2 (g) → CO2 (g); ∆H = -94kcal12.

2CO (g) + O2 (g) → 2CO2 (g); ∆H = -135 kcal.

The heat of formation of CO (g) is

-26.4 kcalA.

41.2 kcalB.

26.4 kcalC.

229.2 kcalD.
Answer

Conjugate acid of HF2- is13.

H+A.

HFB.

F2-C.

H2F2D.

Answer

An electron from one Bohr stationary orbit can go to next higher orbit14.

by emission of electromagnetic radiationA.

by absorption of any electromagnetic radiationB.

by absorption of electromagnetic radiation of particular frequencyC.

without emission or absorption of electromagnetic radiationD.

Answer

Valence bond theory of metallic bond was given by15.

DaltonA.

DrudelB.

FajanC.

Pauling D.

Answer

Splitting of spectrum lines in magnetic field is16.

Stark effectA.

Raman effectB.

Zeeman effectC.

Rutherford effectD.

Answer

Isoelectronic pair among the following is17.

Ca and KA.

Ar and Ca2+B.

K and Ca2+C.
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Ar and KD.

Answer

For the following reaction in gaseous phase18.

CO (g) + 12O2 (g) → CO2 (g) Kp/ Kc is

(RT)1/2A.

(RT)-1/2B.

(RT)C.

(RT)-1D.
Answer

On adding 1 g arsenic to 80 g benzene, the freezing' point of benzene is lowered by 0.19°C. The19.

formula of arsenic is

AsA.

As2B.

As3C.

As4D.

Answer

The  standard  emf  of  a  cell,  involving  one  electron  change  is  found  to  be  0.591  V  at  25°C.  The20.

equilibrium constant of the reaction is (F = 96500 C mol-1)

1.0 × 101A.

1.0 × 105B.

1.0 × 1010C.

1.0 × 1030D.

Answer

One mole of magnesium nitride on the reaction with an excess of water gives21.

one mole of NH3A.

two moles of NH3B.

one mole of HNO3C.

two moles of HNO3D.

Answer

Which of the following oxides is amphoteric in character?22.

SnO2A.

SiO2B.

CO2C.

CaOD.

Answer

Which of the following does not react with sodium metal?23.

https://www.zigya.com/previous-year-papers/jee/12/Chemistry/2008/JEE2008015/CHENJE11201662/10
https://www.zigya.com/previous-year-papers/jee/12/Chemistry/2008/JEE2008015/CHENJE11201667/10
https://www.zigya.com/previous-year-papers/jee/12/Chemistry/2008/JEE2008015/CHENJE11201685/10
https://www.zigya.com/previous-year-papers/jee/12/Chemistry/2008/JEE2008015/CHENJE11201687/10
https://www.zigya.com/previous-year-papers/jee/12/Chemistry/2008/JEE2008015/CHENJE11201689/20
https://www.zigya.com/previous-year-papers/jee/12/Chemistry/2008/JEE2008015/CHENJE11201691/20
https://www.zigya.com


Chemistry
JEE 2008

Exam Year
2008

Study, Assignments, Solved Previous Year Papers . Questions and Answers. Free Forever.

Like. Share. Bookmark. Download. Make Notes. Print - Your Favourite Questions. Join www.zigya.com

Page 6 of 15

(CH3)2OA.

CH3CH2OHB.

CH3COOHC.

C6H5OHD.

Answer

The IUPAC name for24.

5-chloro-hex-2-eneA.

2-chloro-hex-5-eneB.

1-chloro-1-methyl-pent-3-eneC.

5-chloro-5-methyl-pent-2-eneD.
Answer

The element which on burning in air gives peroxide is25.

lithiumA.

sodiumB.

rubidiumC.

caseiumD.

Answer

In cyclopropane, cyclobutane and cyclohexane, the common group is26.

A.

B.

-CH3C.

D.

Answer

CH3CH2OH and CH3OCH3 are the examples of27.

chain isomerismA.

functional isomerismB.

position isomerismC.

metamerismD.

Answer

In the following reaction28.

RCH2COOH →Br2/ P X →excess NH3 Y

The major maounts of X and Y are

RCHBrCONH2; RCH(NH2)COOHA.
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RCHBrCOOH; RCH(NH2)COOHB.

RCH2COBr; RCH2COONH4C.

RCHBrCOOH; RCH2CONH2D.

Answer

KMnO4 (acidic/alkaline) is not decolourised by29.

Mohr saltA.

Oxalic acidB.

BenzeneC.

PropeneD.

Answer

White lead is30.

PbCO3PbOA.

PbCO3B.

Pb(OH)2.2PbCO3C.

PbSO4.PbOD.

Answer

Which one of the following will dissolve in water most readily?31.

I2A.

BaCO3B.

KFC.

PbI2D.

Answer

In silica (SiO2), each silicon atom is bonded to32.

two oxygen atomsA.

four oxygen atomsB.

one silicon and two oxygen atomsC.

one silicon and four oxygen atomsD.

Answer

Heavy water is represented as33.

H2
18OA.

D2OB.

D2
18OC.

H2O at 4°CD.

Answer

Which compound is used in photography?34.

Na2SO5A.

Na2S2O8B.
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Na2S26C.

Na2S2O3D.

Answer

CH3CH2CH3 →400-600°C X + Y35.

X and Y are

hydrogenA.

methaneB.

hydrogenC.

ethyleneD.
Answer

In the equation36.

CrO42- + SO32- → Cr(OH)4- + SO42-

the oxidation number of Cr changes from

+6 to +4A.

+6 to +3B.

+8 to +4C.

+4 to +3D.
Answer

How many π bonds are present in naphthalene?37.

4A.

5B.

6C.

7D.

Answer

Which of the following will be easily nitrated?38.

A.

B.

CH3NO2C.

C6H5NO2D.

Answer

In Kjeldahl's method of estimation of nitrogen, CuSO4 acts as39.

oxidising agentA.

reducing agentB.

catalytic agentC.

hydrolysis agentD.

Answer
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Sodium thiosulphate is a40.

reducing agentA.

oxidising agentB.

complexing agentC.

bleaching agentD.

Answer

The number of possible alkyns with molecular formula C5H8 is41.

3A.

4B.

5C.

6D.

Answer

A metal 'M' reacts with N2 to give a compound 'A' (M3N). 'A' on heating at high temperature gives42.

back  'M'  and  'A'  on  reacting  with  H2O  give  a  gas  B.  'B'  turns  CuSO4  solution  blue  on  passing

through it. M and B can be

Al and NH3A.

Li and NH3B.

Na and NH3C.

Mg and NH3D.

Answer

Plaster of Paris on making paste with little water sets to hard mass due to formation of43.

CaSO4A.

CaSO4.1/2 H2OB.

CaSO4 H2OC.

CaSO4.2H2OD.

Answer

C-C bond length is maximum in44.

diamondA.

graphiteB.

naphthaleneC.

fulleroneD.

Answer

Ammoniacal silver nitrate form a white precipitate easily with45.

CH3C≡CHA.

CH3C≡C-CH3B.

CH3CH=CH2C.

CH2=CH2D.

Answer
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A  solution  of  sodium thiosulphate  on  addition  of  few drops  of  ferric  chloride  gives  violet  colour46.

due to the formation of

Na2S4O6A.

Fe2(SO4)3B.

Fe2(S2O3)3C.

Fe2(S2O3)2D.

Answer

pH of a 0.0001M HCl solution is47.

4.0A.

2.0B.

6.0C.

7.0D.

Answer

A  reaction  proceeds  by  first  order,  75%  of  this  reaction  was  completed  in  32  min.  The  time48.

required for 50% completion is

8 minA.

16 minB.

20 minC.

24 minD.

Answer

Aqueous solution of ferric chloride is acidic due to49.

ionizationA.

polarizationB.

dissociationC.

hydrolysisD.

Answer

The correct order of heat of formation of halogen acids is50.

HI > HBr > HCl > HFA.

HF > HCl > HBr > HIB.

HCl > HF > HBr > HIC.

HCl > HBr > HF > HID.

Answer

Hydrolysis of urea is an example of51.

homogenous catalysisA.

heterogenous catalysisB.

biochemical catalysisC.

zeolite catalysisD.

Answer

The radius ratio in CsCl is 0.93. The expected lattice structure is52.
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tetrahedralA.

square planarB.

octahedralC.

body-centred cubicD.

Answer

The vapour pressure of pure liquid A is 0.80 atm. When a non volatile B is added to A its vapour53.

pressure drops to 0.60 atm. The mole fraction of B in the solution is

0.125A.

0.25B.

0.5C.

0.75D.

Answer

The velocity of oxidation of oxalic acid by acidified KMnO4  increases as the reaction progress. It54.

is an example of

promotersA.

catalytic poisonsB.

autocatalysisC.

inhibitorsD.

Answer

What flows in the internal circuit of a galvanic cell?55.

ionsA.

electronsB.

electricityC.

atomsD.

Answer

Osmotic pressure of a solution at a given temperature56.

increases with concentrationA.

decreases with concentrationB.

remains sameC.

initially increases and then decreasesD.

Answer

Which of the following is not a property of colloidal solution?57.

HeterogeneityA.

Particle size > 100 nmB.

Tyndall effectC.

Brownian movementD.

Answer

The hydroxide insoluble in NH4OH + NH4Cl is58.

Al(OH)3A.
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Ca(OH)3B.

Zn(OH)2C.

Mg(OH)2D.

Answer

Time period of a wave is 5 × 10-3  s, what is the frequency?59.

5 × 10-3  s-1A.

2 × 102 s-1B.

2.3 × 103 s-1C.

5 × 102 s-1D.

Answer

The osmotic pressure (At 27° C) of an aqueous solution (200 mL) containing 6 g of a protein is 260.

× 10-3 atm. If R = 0.080 L atm mol-1 K-1 , the molecular weight of protein is

7.2 × 105A.

3.6 × 105B.

1.8 × 105C.

1.0 × 105D.

Answer

Alloy is an example of61.

gelA.

solidified emulsionB.

solid solutionC.

solD.

Answer

In Lucas test an alcohol reacts immediately and gives insoluble chloride. The alcohol is62.

CH3OHA.

CH3CH2OHB.

(CH3)2CHOHC.

(CH3)3COHD.

Answer

The reactant (X) in the following reaction is-63.

(X) →(CH3CO)2OCH3COONa Cinnamic acid 

A.

B.
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C.

D.
Answer

A  compound  (X)  on  ozonolysis  followed  by  reduction  gives  an  aldehyde  C2H4O and  2-butanone,64.

compound (X) is

3-methyl pentene-2A.

3-methyl pentene-3B.

3-methyl hexene-3C.

3-ethyl pentene-3D.

Answer

Protic solvent is65.

diethyl etherA.

n-hexaneB.

acetoneC.

ethanolD.

Answer

Glycerol is more viscous than ethanol due to66.

high molecular weightA.

high boiling pointB.

many hydrogen bonds per moleculeC.

Fajan's ruleD.

Answer

A Zwitter ion is67.

a negatively charged ion without metal atomA.

a heavy ion with a small charge on itB.

an ion with positive and negative charge at different points on itC.

a positively charged ion without a metal atomD.

Answer

Toluene on treatment with CrO3 and (CH3CO)2O followed by hydrolysis with dil HCl gives68.

benzaldehydeA.

benzoic acidB.

phenolC.

phenylacetaldehydeD.

Answer

F2C = CF2 is a monomer of69.

teflonA.

nylonB.
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glyptalC.

buna-SD.

Answer

Which of the following, is an example of aldol condensation?70.

2CH3COCH3 →dil. NaOH CH3COHCH3CH2COCH3A.

2HCHO →dil. NaOH CH3OHB.

C6H5CHO + HCHO →dil. NaOH C6H5CH2OHC.

None of the aboveD.

Answer

An organic amino compound reacts with aqueous nitrous acid at low temperature to produce an71.

oily nitroso amine. The compound is

CH3NH2A.

CH3CH2NH2B.

CH3CH2NHCH2CH3C.

(CH3CH2)3ND.

Answer

The drug used to bring down fever are known as72.

analgesicA.

antibioticB.

antipyreticC.

sulpha drugsD.

Answer

In the reaction sequence73.

X is

cyclohexanoneA.

caprolactumB.

HO(CH2)6NH2C.

hexamethylene diisocyanateD.
Answer

The property which distinguishes formic acid from acetic acid is74.

only ammonium salt of formic acid on heating gives amideA.

when heated with alcohol/ H2SO4 only acetic acid forms esterB.

only acetic acid forms salts with alkaliC.

only formic acid reduces Fehling's solutionD.

Answer

P-cresol reacts with chloroform in alkaline medium to give the compound A which adds hydrogen75.
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cyanide to form the compound B. The latter on acidic hydrolysis gives chiral carboxylic acid. The

structure of the carboxylic acid is

A.

B.

C.

D.

Answer
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